cle| =5t I |-
|_|"£'I o d 07
cheo] AT ASH FAO AL WA F 2| 4. e 244 Qeld A A1) o d BE) I
o] A RS ni et grbed 9t Aol Wgsts »8 Fatele
(—4) X (—8) X (+3) X (—2) X (-5) A . B
=(~4) X (~3) X (=2) X (+3) X (=5) %__ -2 -10 1 2 3
=(=4) X {(=3) X (=2)} X (+3) X (=5)
=(—4) X (+6) X (+3) X (-5)
e ]
=(+6) X (=4) X (+3) X (=5)
=(+6) X (=4) X (=5) X (+3) :I_
=(+6) X {(=4) X (=5)} X (+3) j
=(+6) X (+20) X (+3)
=360
5. o2 F Al 725 a,b,c o tHot] ZAHsHA] = A
29
D ax(b—c)=axb—axc
@ (axb)xc=ax(bxc)
® a-b=b—a
@ axb=bxa
® a+b=b+a
= x{=24+3x( )3}+g—%7ﬂ&8}§ﬂ?
® -1 > L ®° 6. the ageld Al WMol ¥ Ul 49 Fel w
5 5 5 & wE o, O &7 gwe &9
Y3 © -3 3
Q)
-4 5
5 7 —-4|| ©
Adigto] 22 % B4 a, b AFole] A7t 16 ©]
a>b<d M, a b9 Fs 247 7ot
® +10 @ +6 ® -2
@ +4, —4 @ +8, —8 @ —6 ® —10
® 49, -9 @ +12, —12
® +16, —16




A —3HTH7 2 $0l1 BE1 Rk 3 &
W, = 4 A, BN 22 Ao
/Hoﬂk] 2o W9

—3210123

2

-
s
-

£ fe

ol o
MT_‘%EO

L2
rlo

N e

10. o} 1gofA Al Hol =
St A+ B 9] #2?

©®-6 @-4 O-1 @2
11. $24 §le] =l = 45

Hol —2 0], A ©] ATighe 3 o]tk

9 & Y 55 Tkl

12. 1 o]5}e] BRI} 5 91 7]FRS

%4 o|Are] By} g ol 7]oF

2t

13. A=-3x8+(-2)
o, A - B o gt& Fsfolal.

B=5x{2+(12-5)+7} ¥4

21 4] 40] Fo] B RS

A, B 9] gt 7k2d 9l
.ol o, B &] gto]

o]




Fed=t.

5|

RE

0, a 2

poy b o

S

15 = omay o o




